Finding the Mean
Subject:
Mathematics  


Topic:
Statistics

Grade Level:
5     
Part A
Objective: At the conclusion of this activity, the teacher will be able to determine the student's understanding and ability to find the mean.

1.
Find the mean of 2, 1 and 0.

2.
Find the average of these numbers 8, 2 and 5.  
3.
What is the mean for 9, 0, 7 and 12?


4.
What is the mean? 8, 8, 1, 1 and 2

5.
Is this correct? The average of 6, 1, 0, 17 and 41 is  14. Explain your answer.

6.
Is the average for 5, 8, 9, 3, and 1 bigger or smaller than 7? Prove your answer

7.
Which answer is correct?


(i)
The average of 3, 4, and 2 is five.


(ii)
The average of 3, 4, and 2 is three


(iii)
The average of 3, 4, and 2 is four


(iv)
The average of 3, 4, and 2 is two

8.
Ted collected 270 bottles over nine days and Pat collected 180 over 3 days. Who had the better average? Explain your               
answer.

9. 
If Raj scored 0, 0, 0, and 0 on a computer game, what was his average?

10. 
If Raj played one more game and got the same score, would his average change? Why or why not?

11.
Brian said that he made $90.00 per day on average. If he worked for 12 days and made $920.00, was this average, better 
than average or worse than average? Explain your answer.

12.
John went to six hockey games to watch the Oilers. During those games, they scored 18 goals. What was the average 
number of goals per game?

13.
Create a problem in which the average will be 19.

14.
If the average is 11, write a question that will illustrate that.

15.
If the average is 3, what number is missing? 3, 4,  ?  1, 2, 3

16.
If the average is 25, what number is missing? 30,  0, 20,  ?,  10, 0

17. 
If Mary has an average of 87 and Bob's average is 78, who has the better average. Explain
18.
Create a problem in which the mean is 10.

19.
If the mean is 29, what number is x ?  21, 14, 60 and x

20.
If the mean is 11, what could be the values of x, y and z?
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Finding the Mean Answer Sheet
Subject:
Mathematics  


Topic:
Statistics

Grade Level:
5
Part A
Objective: At the conclusion of this activity, the student will be able to find the mean.

1.
Find the mean of 2, 1 and 0.


The mean is 1.

2.
Find the average of these numbers 8, 2 and 5.
The mean is 5.

3.
What is the mean for 9, 0, 7 and 12?

The mean is 7.

4.
What is the mean? 8, 8, 1, 1 and 2


The mean is 4.

5.
Is this correct? The average of 6, 1, 0, 17 and 41 is  14. Explain your answer. 


No, the sum is 65. Dividing 65 by 5 equals 13. The correct average is 13
6.
Is the average for 5, 8, 9, 3, and 1 bigger or smaller than 7? Prove your answer. The average would be smaller because the sum of the 
digits is 26 and there are 5 numbers. Therefore 5 goes into twenty-six 5 times with 1 left 
over. 5 is smaller than 7
7.
Which answer is correct?


(i)
The average of 3, 4, and 2 is five.


(ii)
The average of 3, 4, and 2 is three
The mean is 3.


(iii)
The average of 3, 4, and 2 is four


(iv)
The average of 3, 4, and 2 is two

8.
Ted collected 270 bottles over nine days and Pat collected 180 over 3 days. Who had the better average? Explain your answer. Ted's 
average is 30 per day and Pat's average is 60 per day. Pat's average is better
9. 
If Raj scored 0, 0, 0, and 0 on a computer game, what was his average? The mean is 0.

10. 
If Raj played one more game and got the same score, would his average change? Why or why not?


The average would not change because any number divided into 0 is still 0
11.
Brian said that he made $90.00 per day on average. If he worked for 12 days and made $920.00, was this 
average, better than average or worse than average? Explain your answer. This is worse than average. $920 divided by 12 is $87.66 per day. This is less than $90.00 per day
12.
John went to six hockey games to watch the Oilers. During those games, they scored 18 goals. What was the average number of goals 
per game? The mean is 3.

13.
Create a problem in which the average will be 19. The  answers will vary.

14.
If the average is 11, write a question that will illustrate that. The  answers will vary.

15.
If the average is 3, what number is missing? 3, 4,  ?  1, 2, 3  The number is 5. There are 6 elements. The quotient must equal 3.    Therefore,  ▲÷ 6 = 3, ▲= 18. The sum of the other 5 numbers is 13. The missing number is difference between 18 and 15 and that is 5.

16.
If the average is 25, what number is missing? 30,  0, 20,  ?,  10, 0 The number is 90. There are 6 elements. The quotient must equal 25.    Therefore,  ▲÷ 6 = 25, ▲= 150. The sum of the other 5 numbers is 60. The missing number is difference between 150 and 60 and that is 90.
17. 
If Mary has an average of 87 in mathematics and Bob's average is 78, who has the better average. Explain Mary's average is better 
because it is higher.

18.
Create a problem in which the mean is 10. The  answers will vary..

19.
If the mean is 29, what number is x ?  21, 14, 60 and x The  number for x is 21. There are 4 elements. The quotient must equal 29.    Therefore,  ▲÷ 4 = 29, ▲= 116. The sum of the other 3 numbers is 95. The missing number is difference between 116 and 95 and that is 21.
20.
If the mean is 11, what could be the values of x, y and z? The answers will vary.
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